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cflyg jif{2073/2074
>f))f dixgf
207372074 sfldfl; s cfdbfglsf]kffgf<
< of]dixgf sf]| of]dixgf ;Ddsf] cfodf kIt
cfo zli§ cgtfigt cfo - = e
1 - cfitks ;ft 34265000 0 0 0
1.1 - :yfglo s< 8710000 0 0 0
1.1.1 - aSofff dfnkft s< 5000 0 0 0
1.1.2 - #< hluf s< 5000 0 0 0
1.1.3 - axfn s< 150000 0 0 0
114 - laM}l s< 0 0 0 0
1.15 - Joj ;fo s< 1200000 0 0 0
116 - ;jfl s< 1400000 0 0 0
1.1.7 - Pslst ;DkIQ s¢< 5500000 0 0 0
1.1.8 - dgff~hg s< 0 0 0 0
1.1.9 - j kg s< 450000 0 0 0
12 - ;Jf zlis 5050000 0 0 0
1.2.1 - :jiL kfIsE zls 300000 0 0 0
1.2.2 - dxzh tyf ;Jf zls 150000 0 0 0
1.2.3 - kofg ;]Jf zNs 0 0 0 0
1.2.4 - ;fjblgs ;ljwf pkofli ;Jf zNs 0 0 0 0
1.2.5 - ;fjhlgs ;<rof ddt ;Def< zlv 0 0 0 0
1.2.6 - crn ;DkIQ diof°g ;Jf zlNs 100000 0 0 0
1.2.7 - :yfglo ljsf; zNs rfn' 0 0 0 0
1.2.8 - cto ;]Jf zlis 800000 0 0 0
1.2.8. - [jnla zls 0 0 0 0
1.2.9 - yk :gfglo Ijsf; zNs kRlut 3700000 0 0 0
1.2.9. - Igjbg %kio{z\s 0 0 0 0
13- brtk 5870000 0 0 0
1.3.1 - btf{gjls<)f btk 150000 0 0 0
132 - gS;fkf; brtk 2200000 0 0 0
1.3.3 - aS; Yl |; kifl<z b:tk 3200000 0 0 0
1.3.4 - gftf kfif)ft b:t& 200000 0 0 0
135 - clo b:tx 120000 0 0 0
14 - ljgl 410000 0 0 0
1.4.1 - rfn" ;0KIQ Ijql 10000 0 0 0
1.4.2 - :yfol ;DKIQ Ijopnl 0 0 0 0
1.4.3 - cbo Ija 400000 0 0 0
15 - 5k ki<rfng 0 0 0 0
15.1 - ;fjblgs Ighl ;fenbi<l 0 0 0 0
1.5.2 - cbo ;ft kkrfng 0 0 0 0
1.6 - ;fif hofh nfefz < afy; 0 0 0 0
16.1 - ;i Ikrtf{ 0 0 0 0
1.6.2 - Jofhaf* cfo 0 0 0 0
1.6.3 - nfefz 0 0 0 0
1.7 - cbo cfo 14225000 0 0 0
1.7.1 - b)* hkjfgf Idnfkq 800000 0 0 0
1.7.2 - ef*f 5000000 0 0 0
1.7.3 - w<fM. hkit 25000 0 0 0
1.7.4 - wef. Ikntf{ 0 0 0 0




1.7.5 - KIsl Iktf{ 0 0 0 0
1.7.6 - cto Ijljw cfo 8400000 0 0 0
1.8 - hiuf &}sf af* 0 0 0 0
2 - af¥o ;ft 83500000 19107000 19107000 22.88
2.1 - cgbfg 40000000 19107000 19107000 4777
2.1.1 - gkfin ;<sfaf* cgbfg 40000000 19107000 19107000 a41.77
3.1 - Ihdlj=;= af* <th:j afFkifEaf” cfo 1500000 0 0 0
3.1.1 - ;fk pkofyi s<af* affkifE 1500000 0 0 0
3.1.2 - Innfd lag 0 0 0 0
4.1 - jblzs ;xfotf 8000000 0 0 0
¥.9.9 - IR FETIAT (91T IR 8000000 0 0 0
¥.9.] - 3t Feraar (et eeET) 0 0 0 0
¥.9.3 - J3RTF FETFAT (@EFTT AT 0 0 0 0
¥.9.¥ - F3MTF TETIAT (WFsh TR 0 0 0 0
5.1 - cbo cghfg 7000000 0 0 0
5.1.1 - cto lgsfo af* kift cgbfg 7000000 0 0 0
6.1 - clo lgsf;f 0 0 0 0
7.1 - O tyf ;fkL 10000000 0 0 0
©q.9 - 9% HOr (@Ref 0 0 0 0
©9.R - A= A () 10000000 0 0 0
7.1.3 - |jbEl C)f 0 0 0 0
7.1.4 - ;fkN 0 0 0 0
7.2 - kN 0 0 0 0
8.1 - rebf bfg pkxi 12000000 0 0 0
8.1.1 - hg;xeflutf 0 0 0 0
8.1.2 - nfut ;xeflutf 12000000 0 0 0
8.2 - cfibfgl vréf]ix;fj chof 5000000 0 0 0
T A 117765000 19107000 19107000 16.22




